| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
1g Entries 4723 1 - ~— Entries 4723
5_|_I_ Mean 0.7377 : ¢ | Mean 1335
r . N Std Dev 0.5635 N : Std Dev 2.295
10_1§_ missing_inner_layers 10_1 [ ‘ missing_outer_layers
= Entries 4966 = : : Entries 4966
r Mean 0.7662 r : : Mean 1.762
Std Dev 0.5484 : . Std Dev 2.612
1072 T 1072 e Feeeeeeees (. -
E missing_inner_layers E N . missing_outer_layers
L Entries 4965 L i [ Entries 4965
3 Mean 0.7664 Bl i eeirMean 1.763
10 Std Dev 0.5484 10 : + |Std Dev 2.613
: - T ] : ; : [
I missing_inner_layers o . missing_outer_layers
—4 L Entries 4967 —4 L ' Entries 4967
10 E Mean 0.7657 10 E N . | Mean 1.759
o Std Dev 0.5483 o . . | .Std Dev 2.609
0 AN IITIFILEE RRRREAREL] LRAE 1073 rrrrrrree s B AR
o1 fon 5 I I I I ! ! ! 1078 I I !
= F : .
T 1.05F
x ok
E
0.95F- : : :
0.9 : i i
0 O. 5 1 1. 5 2 2. 5 3 3. 5 4 4. 5 5 0 5 10 15 20 25
—— obal_cmssw__RECO
=== DQM_V0001_R000000001__Global__mkFitOriginal__RECO
mean hif == DQM_V0001~R000000001 _Global__mkFitNew __RECO
= DOM_V0001_R000000001_Global__mkFitNew05__RECO
— 40r = Entries 4723
%) - C Mean 15.89
> o - Std Dev 5.267
A 35 SRRRRR R AT~ TRRE 2 e SRR LR ALt 1
2 r o hits
c - Entries 4966
\% 30__ 102 : | Mean 14.58
r Std Dev
25F ]
E -{ Entries 4965
I | . Mean 14.58
20 o Std Dev 4.672
F : I
15 r 10 E: hits
E Entries 4967
r le 14.59
| . Std Dev. 4.667
1
3] 3= F
T T 1.5
2 @ L
1
st . . . R TN o .
0 5 10 15 20 25 30 35 40

num_simul_pT

Entries 143227
Mean 2.096
5.929

Std Dev

num_simul_pT

Entries 143227
Mean 2.096
5.929

Std Dev

num_simul_pT

tries 143227
qu‘ae 2.096
Std Dev 5.929

.-I

num_simul_pT.

Entries 143227
Mean 2.096
Std Dev 5.929
el
11111111111111IIIIIIIIII 1111
TTTTTTTTTTTTTTTT|||||||‘ :
0.95— I i 52 s
10 1 10 10 ™ 6.0

[Nofreco track vs pT |

track hits

num_reco_pT,

1g Entries 7791
E Mean 1.674
B Std Dev 13.05
a : : [
10 1E_ b num_reco_pT,
E P
E : Entries 5072
r : Mean 1.493
. Std Dev 1.655
2L :
102k : : T
o . num_reco_pT
o : Entries 5071
3L . R — L Mean 1.491
107°g Std Dev 1.646
: num_reco I?T
4L ... | Entries 5072
10 E Mean 1.493
E td Dev. 1.655
=
10°F
o108
% E
1.2F
@ E
1.1
1
9E—
10




	Contents
	Page 1


